



・ 計算をしましょう。(うすい字はなぞりましょう。)

① 1 L - 3 dL =

② 1 L 8 dL - 9 dL =

<ひっ算>

$$\begin{array}{r} \phantom{1} \text{L} \phantom{0} \text{dL} \\ - \phantom{1} \phantom{0} \text{dL} \\ \hline \phantom{1} \text{L} \phantom{0} \text{dL} \end{array}$$

③ 1 L 4 dL - 7 dL =

<ひっ算>

$$\begin{array}{r} \phantom{1} \text{L} \phantom{0} \text{dL} \\ - \phantom{1} \phantom{0} \text{dL} \\ \hline \phantom{1} \text{L} \phantom{0} \text{dL} \end{array}$$

④ 1 L 6 dL + 8 dL =

<ひっ算>

$$\begin{array}{r} \phantom{1} \text{L} \phantom{0} \text{dL} \\ + \phantom{1} \phantom{0} \text{dL} \\ \hline \phantom{1} \text{L} \phantom{0} \text{dL} \end{array}$$



・ 計算をしましょう。(うすい字はなぞりましょう。)

$$\textcircled{1} \quad 1 \text{ L} - 3 \text{ dL} = 10 \text{ dL} - 3 \text{ dL}$$

$$= 7 \text{ dL}$$

$$\textcircled{2} \quad 1 \text{ L } 8 \text{ dL} - 9 \text{ dL} = 18 \text{ dL} - 9 \text{ dL}$$

<ひっ算>

$$\begin{array}{r} \cancel{1} \text{ L } 8 \text{ dL} \\ - \quad \quad 9 \text{ dL} \\ \hline \quad \quad 9 \text{ dL} \end{array}$$

$$= 9 \text{ dL}$$

$$\textcircled{3} \quad 1 \text{ L } 4 \text{ dL} - 7 \text{ dL} = 14 \text{ dL} - 7 \text{ dL}$$

<ひっ算>

$$\begin{array}{r} \cancel{1} \text{ L } 4 \text{ dL} \\ - \quad \quad 7 \text{ dL} \\ \hline \quad \quad 7 \text{ dL} \end{array}$$

$$= 7 \text{ dL}$$

$$\textcircled{4} \quad 1 \text{ L } 6 \text{ dL} + 8 \text{ dL} = 2 \text{ L } 4 \text{ dL}$$

<ひっ算>

$$\begin{array}{r} \quad \quad 1 \text{ L } 6 \text{ dL} \\ + \quad \quad \quad 8 \text{ dL} \\ \hline \quad 2 \text{ L } 4 \text{ dL} \end{array}$$